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7.1 HEFHESHESZERE

L&l 7-1] {F A ZFEM RN FERE T

[#l 7-2] & A {ES AN FERE T

.. - E#S 5F 3-6 #E[F
ARCHITECTURE bhv ©OF DFF1 I3
BEGIN
PROCESS {CLEK)
VARIABLE ¢l : STD LOGIC ;
BEGIN
IF CLEK'EVENT AND CLEK=T1T
THEN ¢l := D; END IF;
o <= 0l;
END PROCESS ;
END ;

e ——RLEES 55 3-6 17
ARCHITECTUEE bhwv COF DFF2 IS
SIGHNAL 1 @ 3TD LOGIC ;
BEGIN
FPROCESS (CLE)
BEGIN
IF CLE'EVENT AND CLE=T1T
THEN ©1 <= D; END IF;
END PEOCESS ;
o <= 0l;
EMND ;




7.1 HEFHESHESZERE

[ 7-3]

[# 7-4]

- bI k#8515 3-6 1)
ARCHITECTUEE bhv OF DFE1 IS
dIGMAL A,B : 3TD LOGIC ;

BEGIN
PEOCESS (CLE) BEGIN
IF CLE'TEVENT AND CLE="1" THEN

B o<=1D ;

B <= A ;

Q <= B ;
END TIF;

END PEOCEZS
END :

oo —-BLEERST 5 3-6 /H[F]
ARCHITECTURE bhv OF DFF1 IS
BEGIN

PROCESS [CLK)

VARIABLE A,B : STD LOGIC;

BEGIN

IF CLE'EVENT AND CLE=T1T" THEN
A =D ;

B = A ;

o <= B ;

END IF;

END PROCESS
END
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7.1 HEFHESHESZERE

[ 7-51
PROCESS (inl, inZ, . . .} —— [ H BT sns+aRt | B
VARIABLE cl, . . . : STD LOGIC VECTOR(3 DOWNTO 0)
BEGIN
el <= "1010" ; — ¥ 3T
cl = "oo1lr o, — B 10T

END PROCESS; ——TE5ns+2 0T Zilst i A2
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7.1 HEFHESHESZERE

[F17-6]

LIBERARY IEEE;

UZE IEEE.3TD LOGIC 1164.ALL;

ENTITY muxd I3

PORT (i0, il, iZ, i3, a, b : IN 3TD LOGIC; ¢ : OUT STD LOGIC);
END muxd;

ARCHITECTURE body muxd OF muxid IS

signal muxwval : integer range ¥ downto 0;
BEGIN
process (il, il,iZ,i3d,a,b) begin

muxwval <« 0O;
if [a = '1'}) then rmwuxwval <= muxval + 1; end if;
if (b= '1'"} then mwuxwval <= muxwval + Z; end if;

case muxval is

when 0 => g <= i0; oh
when 1 => g <= il; t:
when 2 => g <= iZ; 0
when 3 => g <= i3; H
Wwhen cothers => null; i
end case; 1
end process; E7-3 BREE 7600802 TIERT AR

END body muxd;
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[ 7-7]

LIERARY IEEE;

T3E IEEE.STD_LOGIC_IIEQ.ALL;
ENTITY muxd I3

PORT (i0, il, iZ, i3, a, b IN STD LOGIC; g : OUT STD LOGIC);

END mmuxd;

ARCHITECTURE body mux4 OF muxd IS

BE=IN

process(i0,1il,i2,i3,a,.b)

wvariable muxwval integer range 7 downto O

begin

muxval = 0;

if (a = '1'}) then mixval = wuxval + 1; end if;

if (b= '1') then maxval = mwuxval + Z; end if;

case muxval is
when O => g <= il0; st f 00 X Ol A0 XU A0
when 1 => o <= il; |:; _f—;_i—{:
when I =» g <= i2; o |
when 3 = g <= i3; 't TTUUUUUTVUUUUUTUUUUUTUIIU Uy
when others => null; I Iy Yy T T oy Yy Iy Yy T

end case; o JATAAAAL L L UL TN

end process;

END bhody muxd;

BE7-4 fZRF517-7H)IE B T 1ERT AR
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7.2.1 =&F11%&

5 7-81
LTERARY TEEE;
USE IEEE. 8TD LOGIC 1164.ALL:
ENTITY tri = IS
port (enable : IN 2TD LOGTIC;
datain : IN STD LOGIC VECTOR (7 DOWNTO 0} ;
datacut : OUT ETD _LOGIC VECTOR(V DOWMNTO 0) ) ;

END tri = ;

ARCHITECTURE bhv CF tri_s Ia
BEGIN

PROCESS (enable, datain) BEZIN

IF enable=T1" THEN datacut <= datain ;
EL3E datacout <="ZZZZZZZZ" ; END IF ;
END PREOCEZS ;
END bhv;

E 7.5 e =R

1R
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7.2.2 X A R8T

pﬂ]lﬁ[?']];
[ 7-9] it .
[ini7o] —=f%1 PO 3 o7 a 7a]  [ro 700 |70
. . (70 [:7-0] ==
library leee; [control c ’

¥_1[7:0]

use leee.std logic 1164.all; q[7:0]

entity tri state is 7.6 |70 HyiEa i s

port (contrel : in std logic;
inl: in std logic vector (7 downto 0);
q ! inout std logic wvector (7 downto 0);
® : out std legic vecter(7 downte 0) );
end tri state;
architecture body tri of tri state is

begin

process (control,q,inl) begin
if (control="0") then =x<=q; else g<=inl; ®«<="ZZZZZZZZ"; end if;
end process;

end body tri:



7.2 & RA % H B BB T

7.2.2 X A R8T

[15 7-10]
oy o= Ml
process (control, o, 1nl) beglin
if (control=T0") then == <= q ; o <="ZZZZZZZZ";
else g <= 1inl; = <="ZZZZZIZI";
end 1f;
end process;

end body tri;

|conlrol —
m 0 T ’ T 70 L I'IIII ;

qtb 570  x_1[7.0]

g7 =
B 7-7 ) 7-10 BiRSid
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7.2.3 =X BDEHBEHRIT

L% 7-11]
LIBRARY IEEE; Ig;g;ﬁg{gf—?‘:jf
USE IEEE. STD LOGIC 1164.ALL; [imput[7-0] 1" rw e oo
ENTITY tristate? IS frpuzrol ="  un7_enable ,
port ( input3, inputZ, inputl, inputl U7 o] =" utputTI7ol
IN STD LOGIC VECTOR (7 DOWNTO 0) ; B 7-2 1 7-11 SHiRfiE e ias

enable : IN 3TD LOGIC WVECTOR(1 DOWNTO 0O ;
cutput @ OUT 2TD LOGIC VECTOR (7 DOWNTO 0) ) ;
END tristateZ ;
ARCHITECTURE multiple drivers OF tristatez IS

BEEGTN
FPROCEZZ (enakle, input3, inputZ, inputl, input0 ) BEGIN
IF enakble = "00" THEN output <= input3 ;
ELSE output <= (0THERS =>"Z"); END IF ;
IF enable = "01" THEN ocutput <= inputz ;
ELZE ocutput <= (0THERS =->T"Z"); END IF ;
IF enable = "10" THEN ocutput <= inputl ;
ELSE output <= (0THERS =->T"Z"); END IF ;
IF enable = "11" THEN ocutput <= inputl ;
ELSE output <= (0THERS =>'Z'); END IF ;

END PROCESS;
END multiple drivers;
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7.2.3 =X BDEHBEHRIT
[5] 7-12]

library iece;
uze ieee.sztd logic 1164.all;
entity triZ is
port (ctl @ in std legic vector(l dewntoe 0);
datainl, datainZ, datain3, dataind
in std leogic vector(7 downte 0);
q @ out Std_logic_vector(? downto 00 1
end triZ;
architecture body tri of triZ is
begin
q <= datainl when ctl="00" el=ze (others =>7Z7)
q <= datainZ when ct1="01" el=ze (others ==T7Z7) ;
{ )
{ )

q <= datain3d when ctl="10" el=e others =727
q <= dataind4 when ctl="11" el=e others =727
end beody tri;
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[ 7-13]

LIBRARY iece;
USE ieee.std logic 1l64.all;
USE ieee.std logic unsigned.all;
USE ieee.std logic arith.all;
ENTITY multmux IS
PORT (a0, Al, B : IN =td logic vector(3 dewnmte 0);
g : IN std logics
R : OUT std logic vector (7 downto 0));
END multmus;
ARCHITECTURE rtl COF multmux IS
BEEGTIN
process (AD, 81, B, =) begin
if (z="0") then ERE«<=a0 * B; else R<=A1 * B; end if;

end process;
END rtl;
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[#] 7-14]
ARCHITECTURE rtl OF muwmult I8 -l EERAS50 o1 18F
gignal temp : std legic wvector(3 downte 0);
BEGIN
process (A, Al, B, =) begin

if(z="0") then temp<=Al; else temp<=Al; end 1f;
R <= temp * B;
ehd process;
END rtl;
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7.3 BIFEIM

7.3.2 Btk

[ 7-151

LIBRARY ieece;

USE ieee.std logic 1164.all;

use leee.std logic unsigned.all;

use leee.std logic arith.all;

ENTITY multl IS

PORT (clk @ in std logic:

ma : In std logic vector (1l downto 0);
me 1 oout std legic vector (23 downteo 0));

END multl;

ARCHITECTURE rtl OF multl IS

gignal ta, tbh @ =td logic vector (11 downto 0):
EEGTIN
process (clk)  begin
ifi{clkTevent and <lk="1") then
ta<=ma; thk{="100110111001"; mo<=ta * th; end 1f;
end process;
END rtl;



7.3 BRI

7.3.2 Btk

[#] 7-16]
——L L@ 7-15
ARCHITECTURE rtl OF multl IS
gignal ta : std legic vector(ll downte 0);
constant th @ std logic wvector(ll downto 0):="100110111001";
BEGTN

process (clk) begin

ificlk'event and clk="1") then ta<=ma:; mc<=ta*tb; end if:
end process;
END rtl;




7.3 BRI

733 %’/ﬁ:'f’t yout = ag=bg+ ap<by+ ag=xby+ ag=bs
[#] 7-17]

LIBRARY leee;

USE iese.ztd logic 1164.al11;

use lese.std logic unsigned.all;

use lese.std leogic arith.all;

ENTITY pmultadd IS

PORT (al, al, a2,a3 : in std legic vector (7 downteo 0);

BO, b1, b2, 3 @ in std logic vector (7 downto 0);
yvout @ out std legic vector (15 downte 0);
<lk @ in std legic);

END prultadd;

ARCHITECTURE p_arch OF pmultadd IS

EEGTN

process (clk) begin
ificlkTevent and -lk = T1') then
vout <= ({al*b0)+{al*bl)i+ ({a2*b2)+{(a3*k3)); end 1if;
end process;
END p arch;:



[#]7-18]
LA LB SB] 7-17 18 [E]
clks start : in std logic);
END prultadd;
ARCHITECTURE s arch OF prmultadd I3
signal cnt : std logic wvector (2 downto 0O);
signal tmpa. twph : std logic vector (7 downto O);
signal twp. vytwp : std logic wvector(l3 downto 0);
BEGIN
tmpa <= al when cnt = 0 else

al when cnt = 1 else
a2 when cnt = 2 else
a3 when cocnt = 3 else al;

twmph <= b0 when cnt = 0 else

bl when cnt = 1 else

b2 when cnt = Z else

b3 when cnt = 3 else bO;
tmp <= tmpa * tmpb;

process (clk) begin
ificlk'ewvent and clk = '1') then
it (start='1"') then cnt<="000"; vEtwp<=(others=>='0");
elsif [cnt<d) then cnt<—cnt+l; ytmp-—vtmp+tmp;
elsif [(cnt=4) then youtb<=ytmp;
end if; end if;
end process;

END = arch;
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[ 7-19) &@ =8, EP3CL0 FPGRGFEHE: LCs=10,REG=0,T=7.748ns.
LIBRARY i1ees;
USE leee.std logic 1164.all;
USE leee.std logic unsigned.all;
USE leee.std logic arith.all;
ENTITY ADDEES IS
FOET (A, B : IN Std_logic_vector{T downto 0} ;
CLE,CIN : IN Std_ngic; couT o oUT Std_logit:;
SN OUT Std_logic_vector{T downto 0));
END ADDERR ;
ARCHITECTUEE rtl ©F ADDEES IS
SIGHNAL SUMC,A0,BO : Std_logic_vectoriﬁ downto 0);
BEGIN
Al<="0"a& A ; BUO«<=T0" & B ;
process (CLE) begin
IF {RISING_EDGE{CLK}} THEM SUMC <= AQ0+BO+CIN; END IF;
end process;
COUT=<=5UMC (8) ; SUM<=5UMC {7 downto 0);
END rtl;

Ao H a [

AZ b4
e | @ S ] b EG ST
18 CLE I ] [ | ]

19 CIN [ 1

& 20 couT |

21| @3 5w [ ] } 3! O T i i i EH

E7-16 @ 719 B EREER



[ 5] 7-20] #iokedmiEsd, EP3CI0&EE R, CLK=275MHzT=3.63ns, LCs=24, REG=22.
.. .-kl EERS 55 7-19 mA[F]
ARCHITECTUEE rtl <F ADDERE IS
SIGNAL SUMC,AS,BY9 Std_lﬁgic_vectmriﬂ downto 0);
SIGMAL ABS,AS,BS5,TA,TEB,S Std_lﬁgic_vectmriﬂ downto 0) ;
BEEGIN
Ab=="0"7& A{3 downto 0); BH<="0"& B3 downto 0;;
process (CLE) begin
IF {RISING_EDGE{CLK}} THEN
ABRS<=AS+B5+CIN; SUM(Z downto 0)«<=AB5({3 downto 0); END IF;
end process;
process (CLE) begin
IF {RISING_EDGE{CLK}} THEN
S<={"0"& A{T downto 4))+{'0"'& B{7 downto 4))+ ABS{d); END IF;
end process;

COUT<=3{4) ; SUM{7 downto 4)<=3(3 downto 0);

END rtl;
o | BMa | F [E] X ik b4 B 4 AC
w9 | @B [ o0 X 8 x B ) I 4 SC :-; ET i
18 CLE | | | | | ] I ] I ] I ] | 1 | | [T 1
19 CIs [ 1 [T :::!
o 20 COUT |
el | @ swm | 3] T A 1 21 4 30 T 12 T 0T )i (A

B 717 @ 7-20 MR B iR
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7.5.1 [EH &R

E <= A AFTER 20ns ;--[E&EATEA
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E 7-19 [EF Ttk imA
7.5.2 fEHIIER}

E <= TRAMSEORT Z AFTER 20 ns;-- {S¥iiERTiEay
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[# 7-21]

LIBRARY leee;

U3E ieee.std logic 1164.all;

U3E ieee.std logic unsigned.all;
USE ieee.std logic arith.all;
ENTITY addmux IS

PORT (R : OUT std logic wvector {7 downto 0}; sel : IN std logic;

A,B,C,D : IN std logic vector {7 downto 0) J;

END addmux;
ARCHITECTUEE rtl oOF addmux I3
BEGIN

process (A, B,C,D,zel) begin

if{zel="0") then R<=A+B; else E<=C+D; end if;

end process;

END rtl;

vy = x(h(0) + =(n—1) + =(n—23h(2) + 2(n-33h(3)
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iz PLLZ0 ﬁﬁﬁ

CO=1 MHAE B TR 2kHz || R -

5 s s Ed s R I S S Sl S ....|....|.|._: 1 l
R o] a fraquency: 20,000 MHz L
Operation Mode: Normal
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LI 5 BT

7-2 SR HHAE A SR T

[& 7221
WIDTH = 4 ; // “EHN” FHhEEHIE
DEPTH = 256 ; //LEFEEEF 139

ADDRESS RADIX = DEC ; //Huib$iiE2E &+
DATA RADIX = DEC ; /7 S AR 2 A B -

CONTENT BEGIN JIFBELANARERALTHE, §—dH45—

00: 3 ; 01: 2 ; 02: 2 ; 03: =; 04: 5; 05: 5; 06: 5; 07: 6; 08: B; 09: B;
10: 8 ; 11: 92 ; 1&: &6 ; 15: &8; 14: 5; 15: 5; 16:12; 17: 12;18: 12;19:15;
20:13 ; 21:12 ; 22:10 ; 23:12; 24: 9; 25: 9; 26: 9; 27: 9; 28: 9; 29: 9;
30: 9 ; 31: 0 ; 32: 9 ; 33 9; 34: 9; 35:10; 3a: 7; 37 7; 3B: 6; 39 6;
40: 5 ; 41: 5 ; 42: 5 ; 43: 6; 44: B; 45: 8; 4da: 9; 47: 9; 48: 3; 49 F;
50: 8 ; 51: &8 ; 52: 6 ; 53: 5; 54: 6; 55: 8; He6: 5; 57¥: 5; 5B: 5; 58 &
60: 5 ; 6l: 5 ; 6Z2: 5 ; 63: 5; 64:10; 65:10; a6:10; 67:12; ab: T; 69: T;
70: % ; 71 9 ; V2 6 ; T3 8; Y4 5y 15: Ly M6 5y T Ly M8 5y 79 5
BO: 2 ; Bl: 5 ; BZ: 3 ; B3: 3; B4d: 5; 85: 6; Be: 7; 87: 9; BH: 6; B89: &6;
90: &6 ; 91: 6 ; 9E: 6 ; 93 B; U4: 5; 95: 6; 96: B; B7: B; 0B: B; 9O 0O;
100:12;101:12 ;102:12 ;103:10;104: 9; 105: 9;106:10;107: 9;108: &8;109: 8;
110: 5;111: 5 ;112: 3 ;113: 3;114: 5; 115: 3;116: B5;117: &;118: &5;119: 8;
120: 6;121: 8 ;122: 6 ;123: 5;124: 3; 125: 5;126: 6;127: B;148: 5;129: 5;
130: 5;121: 5 ;13Z: 5 ;133: 5;124: 5; 135: 5;136: 0;137: 0;138: 0;

END ;
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[ 7-23]
LIBERARY IEEE:
USE IEEE.STD LOGIC 1164.ALL:
ENTITY F CODE I3
PORT ( INX : IN oSTD LOGIC VECTOR (3 DOWNTO 0O):;
CODE : OOT 3TD LOGIC VECTOE (3 DOWWNTO 0O}
H : OoUT 3TD LOGIC;
To @ OUT 3TD _LoOGIC VECTOERE (10 DOWNTO 0));

END;
ARCHITECTURE one OF F CODE IS
BEGIN
Gearch @ PROCESS (INX)
BEGIN

CASE INX IS —— iR, ERAD, IEHEERNTE

WHEN "0000" => TO¢="11111111111" ; CODE<="0000"; He='0';-—— Z047
WHEN "0001" => TOe="01100000101" ; CODE<="0001"; He='0';-—— 773;
WHEN "0010" => TO<="011100100007" ; CODE<="0010"; He='0';-- 912;
WHEN "0011" => TOe="100000011007" ; CODE<="0011"; He<='0';--1036;
WHEN "0101" =» TO¢="10010101101" ; CODE<="0101"; He='0';--1197;
WHEN "0110" => TOe="10100001010" ; CODE<="0110"; He='0':—-1290;
WHEN "0111" =»> TOe="10101011100" ; CODE<="0111"; He='0';—-1372;
WHEN "1000" =» TO¢="101100000107 ; CODE<="0001"; He='1';--1410;
WHEN "1001" =» TO¢="101110010007 ; CODE<="0010"; He='1':--1480;
WHEN "1010" => TO<="11000000110" ; CODE<="0011"; He='1';:--1542;
WHEN "1100" =»> TO¢="11001010110" ; CODE<="0101"; He='1';--1622;
WHEN "1101" =» TO¢="110100001007 ; CODE<="0110"; H<='1';--1668;
WHEN "1111" => TOe="110110000007" ; CODE<="0001"; He='1':--1728;
WHEN OTHERS => TO<="11111111111" ; CODE<="0000"; He<='0';-- 2047:
END CALSE;

END PROCESS:

END ;
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F 72 PorERRERRSHIHNMER

Key A | B |Cc|D|E|F |G| H|I J || L | M| N o
Data 1c| 32 | 21 | 23 | 24 | 2B | 34 | 33 | 43 | 3B | 42 | 4B | 3A | 31 | 44
Key ploe|lr|s|T|U |V | WwW|x]| Y| Z]|oO0 1 2 3
Data 4D | 15 | 2D | 1B | 2C | 3C | 2A | 1D | 22 | 35 | 1A | 45 | 16 | 1E | 26
Key 4 5 6 7 8 9 - = \ ] : ’ ,

Data 25 | 2E | 36 | 3D | 3E | 46 | OE | 4E | 55 | 5D | 5B | 4C | 52 | 41 49
Key / [ | FL | F2 | F3 | F4 | F5 | F6 | ¥7 | F& | F9 | F10 | F11 | F12 | KPO
Data 4 | 54 | 05 | 06 | 04 | OC | 03 | OB | 83 | 0A | 01 |00 | 78 | 07 | 70
Key KP1 | KP2 | KP3 | KP4 | KP5 | KP6 | KP7 | KP& | KP9 | KP | KP- | KPH KP/ | KP+ | END
Data 69 | 72 | A | 6B | 73 | 74 |6c | || | B | 79| 4A| 7C 69
Key BKSP | SPACE| TAB | CAPS | LSHFT| LCTRY LCUI | LALT | RSHFT| RCTRL RCUI
Data 66 29 oD 58 12 14 IF 1 59 14 27
Key RALT | APPS | ENTER| ESC | INSERT| HOME| PGUP | DELETE| PGDN| NUM
Data 11 2F 5A 76 70 6C 7D 71 TA 77
Key UARROW| LARROW | DARROW | RARROW | KPEN| SCROLL| PENT SCRENM | PAUSE
Data 75 6B 72 74 54 7E 12 7c 14




[# 7-24]
library ieee;
use leee.std logic 1164.all;
use ieee.std logic arith.all;
use leee.std loglc unsigned.all;
entity ps2 PIANO 1is
port{clk, psZclk, psZdata : 1n std logic;
keyvcode @ out Std_logic_vector(? downto 0);
keydown, kewyup, dataerror : out std logic);
end psd PIANG;
architecture behave of psZ PIANO is
signal shiftdata, kbcodereg: std logic vector ({7 downto 0);
signal datacoming,kbclkfall, kbclkreg, parity, isfo : std logic
signal cnt : std logic vector (3 downto 0);
begin
process (clk) begin
if rising edge {clk) then kbclkreg<=psiclk;
kbolkfall<=kbclkreg and (not psZclk); end 1f;

end process;

process (clk) hegin
if rising edge(clk) then
if kbclkfall="1" and datacoming="0" and psZdata=T0" then
datacoming<="1"; cnt<="0000"; parity<="0";
elsif kbclkfall="1" and datacoming=T"1" then



if cnt=% then

if peZdata=T1l" then datacoming<="0"; datasrror<="07;
glse dataerror<=T1"; end if;
cnt<=cnt+1;

elsif cnt=8 then
if pzZdata=parity then datasrror<="0"7;
else dataerror<="1"7; end 1f;

cnt<=cnt+1;
elze shiftdata<=psZdata & shiftdata(? downto 1) ;
parity<=parity xzor psZdata; cnt<=cnt+l; end if;
end 1f;
end 1f;
end process;
processiclk) begin
1f rising edge (clk) then
if cnt=10 then
1f shiftdata="11110000" then isfo<=717;
elzif shiftdata /= "11100000" then

if i=fo="1" then keyup<="1"; kevcode<=shiftdata;

elzge keydown<="1"; kevycode<=shiftdata; end if;

end if;
alse keyup<="0T; kevdown<="0"; end if;
end 1if;
end process;

end behave;
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[ 7-25]
LIERARY TIEEE;
USE IEEE. STD LOGIC 1164.ALL;
USE IEEE.STD LOGIC UNSIGHNED.ALL;
ENTITY SQUL I8
PORT { CIN,ADR : IN STD LOGIC VECTOR {7 DOWNTO 0) ;
OT : OUT STD LOGIC ) ;
END SQT1;
ARCHITECTURE EHV OF SQUL I3
BEGIN
PROCESSE (CIN) BEGIN
IF (ADR<CIN) THEN OT«='0" ; ELZE OT«='1" ; END IF;
END FROCESS;
END BHV ;
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Lif| 7-261 =Min SRR
LIBRARY lesce;
USE ieese.std logic 1164.a11;
USE ieee.ztd logic unsigned.all;
USE 1eee.ztd logic arith.all;
ENTITY TRANZI IS
PORT ( ADR : IN std logic vector (9 downto 0);
oOUTD : OUT Std_lagic_rectarig downto 0] ;
EMND TRANG3 ;
ARCHITECTUREE rtl COF TRANGZI IS
SIGNAL OT1 : =std logic vecteor (9 downto 0);
SIGNAL CC : std logic vector (10 downto 0);
BEESTMN
process (ADR, CC) begin
IF (ADR<"1000000000™) THEM
OT1(9 downto 1) <= ADR(8 downteo 0); OQTL1{0)<=T07;
ELSE CC=="l0000000000" + (MOT ADR)
OT1 (Y downte 1)<=CCi(5 downtec 0); OT1{0)<=T0"; END IF;

end process;
OUTD<=0T1;
END rtl;
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